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- procedures

- top down design
- Update

- syntax error

- link
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#include <conio.h>

#include <stdio.h>

Int main()

{

Short int x= 15;

Long int m=35789;

Clrscr()

Printf("\n x=%hd, m=%Id", x, m);
Getch()

Return 0;

}
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Getch();
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Putchar( a.);
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Putch (‘a");
Putchar ('a");
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A el s 3 0T sy sado ekl (63555 51 1 S 1,8 &S gl asl
#include <conio.h>

#include <stdio.h>
Int main()

{
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Char ch;

Clrer();

Printf("\n Enter a character:");
Ch=getchar()

Printf(ch);
Getch();
Return O;
}
ST

Enter a character: x
You typed the character : x
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#include <conio.h>
#include <stdio.h>
Int main()
{
Const int farconst = 32;
Float farendeg, centdeg;
Clrscr();
Printf("Enter farenheire.");
Scanf("%f", &farendeg);
Centdeg= ((float) 5/9) * (farendeg — farconst);
Printf("Celsius = %5.2f", centdeg);
Getch();
Return 0;

}

T
Enter farenheite : 70
Celsius : 21.11
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For(I=0,m+=1,i<10; i+ +, m ++){

ks

A{b|)g’.§f_3idu...l,-bs’.giU‘ﬁﬁ)égb&@ﬁ)))dﬁ)@A_TS)\)L,LL:Um}iW}J(,h&&)“)‘ﬁ%@\))
while 5 G sl F-¢

1l o3lizal L5
while (& ,2) dsl S
BE- LN

Whlle (.1:*}&){ :fﬁbg}:“'ﬁ)

\)}Lﬂ.}

YJ}:MJ

anS.wJ

}

Sl 5 33 513 5L 0o L BT b cdal 51 i coisd 5SS Oy st By kS o aba>Me oS 5b Olea
,\ﬁ:ax,uub,;.xip«u,J,,.:“c_fuﬁ_wuw&%tétﬂ.gg@@u,lﬁa,;\MuﬁJ,:fﬂqu}uu,:

ail b STl anilt aile AT Iy aysb G350 Al b5 6 s pn eal g aile s s a5 il e 3 ph Al

14 55 5B 5, Ky cllan 51 b0 oS 5l 0 4555 9 25l caslE) s sma 5 Led 1SOLE Vs oK 55 55 00 451) polin 4l



Qli;u}fgibﬁéika};‘quy‘\‘ulﬁ»M;‘/

dal s odalie 3550 ol 55 1y Jle canlsl 53558 a sl Culg o 1SS dil (5555 Lol ooma) il Conys diven
.);

Jto

@&Enter.\:&@wéw AST o iled 1y dhex SSTHIS slum ol s (53955 11y (gl ke 45T (gl asli
el 3555 S SIS sl COUNE sty o 53 (\I) 555

#include <stdio.h>
#include <conio.h)

Int main()

{
Int count = 0;
Clrscr();

Printf("type a statement and ENTER to end:");
While(getche() '="\r'\)

Count + +;
Printf("\n length of statement is: %d", count);
Getch();
Return O;

il
Type a statement and ENTER to end: 1 learn C language.
Length of statement is : 19
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Else
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Yy giws
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}
Else {
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}
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g oo ol 1T S asly (6l ) J 287 (Ol g2mns al (12 D3 6.5 5

Jbo

doolh L SLlS S o Soled |y e 53 55 00 SIS 5 e 51518 sl (63558 ) alezr &S5 Ol L oS (g sl
e 5 b ShIS sl charcount jsce .5 o ENter wls” « dles Slgsl 5 Ll ods i o (space)
b ookl (3555 5148 Sl ST CN 5 U8 W 5les | dlex SIS sl WOrdcount

#include <stdio.h>
#include <conio.h>
Int main ()
{
Int charcount = 0, wordcount = 0,
Char ch;
Clrscr();
Printf("\n Enter a statement(ENTER):");
While((ch = getche() ! ="\r'){
Charcount + +;
Ifch==""
Wordcount + +;
}/end of while
Printf(*\ncharcount= %d, wordcount = %d, charcount, wordcount+1)
Getch ();
Return 0;
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¥

4l
Enter a statement (ENTER): This book is my favourite.
Character count = 26, wordcount =5

gl ol 0leS 25 g el b JuIS Ol g 3l 13 g2 50 ) g1,

NPT FI—FFRY+FA-ALFYYYYYVAS
PSR X =

Shop.nokhbegaan.ir
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